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Chapter 8 — Acute Triangle Trigonometry

8.3 -8.4: The Cosine Law

The Cosine Law is another “formula” for solving Oblique Triangles. Remember, to “solve” a
triangle you MUST be given 3 PIECES OF INFORMATION about the triangle (and I should
note that one of those given pieces MUST BE A SIDE LENGTH).

The main question you will have to be able to answer is this:
When do you use
1) SOH CAH TOA
When you have a R.'jL'F Te """‘]l‘

2) The SINE LAW )
Whenyou havea acuTe friangle
and you have a CORRESPONDING PAIR in the triangle ( bnc bell)
ORRESPONDING PAIR
2N
ASA, Ass A As ar

- l
on 1 wart !
3) The COSINE LAW - Shen? whew fhe her Fwo &

or  SAS, 559

Y

M Fw? 4:des and +£\( t‘r\clmt[eJ Q.r\j'(_




The Cosine Law (for oblique triangles)

There are THREE SIDE FORMS you should know!!

Given the non-right triangle, AABC, then:

T
@’ =b?+c?—2bc cos?A)

or
b2=a2+c2—-2accos(B)

=7
or

c2=a2+b2-2abcos(C)

rXNZ-

%2' = :jZ+ ZL’%jE COSX

Also, there are THREE ANGLE FORMS you

should know!!

2 2_172
COS(A):b +2Cbc a

or

):a2+c2—b2

cos(B ac

or

2 2_p2
cos(C)=2 ng ¢

AxYZ

c o5 X:

The formula you use depends on
which side or angle you are looking
for!!!

Note: You will be given a formula

sheet on tests.

z
2428 -x

dyz



Now, let’s do some examples:

Example 1.5.1
For each of a), b) and c) determine whether you would use the Sine Law or the Cosine
Law. Give a reason.

a) A
14.6 m
C
C
159 m B

HSAS

Cos Al LQ"‘J
Example 1.5.2

Determine the indicated side (set up the “law” using the correct triangle labels!):
Wb = bitc? - bc cos A

M?— ;P2+r\l’2‘pr\ CDSM
wZ= (1) (1) - 20 8)(10) cos )
o l’)}‘h Cal(,.

lm= 0.7% (




Example 1.5.3
Determine the indicated side: B a

- L2 4e?— Qoc cos A 3.7 1.

2o (57) 3D -2 (e FE

g?:FS'S-Hs’H- ' A
u:, .4 in /

5.4 IN:

Example 1.5.4
Determine the indicated angle:

.2 ¢

2 c.Lz 52.
¢ T2 =
cos 6= 9ed 5.0cm 4.3 cm
(3D -lUpD e C

Ccos @- = @ e

ks
o S —
cos B =2

B ks
tf= cos {%)

ch=58°

Class/Homework: Page 443 #2, 3a, 4b, 5bc, 7, 9



